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Guess Paper – 2012
Class – XII
Subject – Mathematics

Time : 3 hours
                                                                             Max. marks: 100

 General Instructions: 

a) All questions are compulsory.

b) The question paper consists of 29 questions divided into three sections A,B and C. 

     Section  A comprises of 10 questions of one mark each, Section B comprises of 12 questions 

     of four  marks each and section  C consists of 7 questions of six marks each.

c) All questions in section A are to be answered in one word , one sentence or as per 

     the exact requirement of the question. 

Section-A

1) Show that the function f : N →N given by f(x)= 2x is one one but not onto.

2) Find the value ofsin-1(sin[image: image2.png]37/4)



 .

3) Find a matrix which is symmetric as well as skew symmetric.

4) For what value of k, the matrix is not invertible. [image: image4.png]2-k 3]
—e 1




5) If A is a square matrix of order 3 such that [image: image6.png]ladj Al



= 64,find  [image: image8.png]17|



.

6) Evaluate [image: image10.png]X + cos6x
3x% + sin6x



dx.

7) Evaluate[image: image12.png][rsinxa



x.
8) For what value of α are the vectors [image: image14.png]


= 2i+ αj+k and [image: image16.png]


= i-2j+3k perpendicular to each other.

9) If [image: image18.png]


  is a unit vector and ([image: image20.png]*+aNxt-aM



= 15.find [image: image22.png]


.

10) Find the value of µ such that the line [image: image24.png]


=[image: image26.png]


=[image: image28.png]


 is perpendicular to the plane 3x-y-2z=7.

Section-B

11) A and B throw a die in turn until one of them   gets 2 or 4 and wins the game. Find their respective   probability of winning, if A throws  first ?

12) A line makes an angle of α, β, γ, δ with the diagonals of a cube prove that 

cos2 α + cos2 β + cos2 γ + cos2 δ= [image: image30.png]


  .

13) If [image: image32.png]


,[image: image34.png]


 are mutually perpendicular vectors of equal magnitudes, show that the vectors [image: image36.png]


 is equally inclined to  [image: image38.png]


,[image: image40.png]


 .

14) Form a differential equation representing the family of curves given by (x-a)2+2y2=a2,where a is an arbitrary constant.

15) Find the general solution of the Differential equation x.logx [image: image42.png]


 + y = [image: image44.png]


 logx.

                                                                         Or

Find the equation of the curve passing through the point (-2,3),given that the slope of the tangent to the curve at any point (x, y) is [image: image46.png]


 .

16) Find [image: image48.png]=



 dx.        Or                  [image: image50.png]


] dx.

17) For the curve y=4x3-2x5,find all the points at which tangent passes through the origin.

Or

Show that y=log(1+x) - [image: image52.png]


 , x > -1 is an increasing function of x throughout its domain.

18) Differentiate : [image: image54.png]


 wrt tan-1([image: image56.png]


).

19) Determine the constants a and b such that the function:  

                                                  Ax2+B       , if x>2   

                                f(x)  =           2            , if x=2                 is continuous.
                                           2Ax-B       , if x<2

20) solve for x: [image: image58.png]tan™ 2% + tan™* 3x



  .

21) Consider  f:R+            [-5,[image: image60.png]


 ) given by f(x)=9x2+6x-5.Show that f is invertible and hence find f-1 .

22) Show that :[image: image62.png]xy oz
Grar gz
vz +Y)




   = 2xyz(x+y+z)3      

Section-C

23) Show that the given differential equation is homogenous and then solve it: 

                     ydx+xlog[image: image64.png](v/x



)dy-2xdy=0

24) Solve the system of equations using matrix method: 2x+3y+3z=5 , x-2y+z= -4,3x-y-2z=3.

                                                                         Or

Using elementary operations, find the inverse of the given matrix  [image: image66.png]2 -3 3
2 23
2 _9 3




25) Find the maximum area of an isosceles triangle inscribed in the ellipse  [image: image68.png]


 + [image: image70.png]


 = 1 with its vertex at the one end of the major axis.

26) Using integration find the area of region bounded by the by the triangle whose vertices are                    (-1,0),(1,3) and (3,2).

                                                                         Or

Using integration find the area of the region:{(x,y):9x2+ y2 ≤ 36 and 3x+y≥ 6}.

27) A toy company manufactures two types of dolls ,A and B.Market tests and available resourses have indicated that the combined production level should not exceed 1200 dolls per week and demand for  dolls of type B is atmost half of that for dolls of type A.Further the production level of dolls of type A can exceed three times the production of dolls of other type by atmost 600 units.If the company makes a profit of Rs. 12 and Rs. 16 per doll respectively on dolls A and B,how many of each should be produced weekly in order to maximise the profit?
28) In a bolt factory machines, A, B and C manufacture respectively 25%, 35% and 40% of the total bolts. Of their output 5, 4 and 2 percent are respectively defective bolts. A bolt is drawn at random from product.

            ( i ) What is the probability that the bolt drawn is defective ?

           ( ii ) If the bolt is found to be defective find the probability that it is a product of machine

       29) Show that the lines  [image: image72.png]


=[image: image74.png]


=[image: image76.png]


 and  [image: image78.png]


=[image: image80.png]


=[image: image82.png]


 are coplanar. 

              Also find the equation of the plane containing the lines.

Mr. Deepak Vashishta

PGT (Mathematics)

Ph. No.-09910949983

Deepak.fbd@gmail.com

www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com | www.niosguess.com | www.iitguess.com

